CALCULWS l

04 Vler coocdishy

We &'Eljf_,#,‘ -}‘tu lw.g.i.r'}fh yf rI e Fai J,f'v'-z

Wil W) Cordhnks ‘f’“f*‘ “?

i

il oy
z-lﬁ— L-F-S !E},,rl{cr ft?‘.ﬁ’.

/'/ (v, o)
(Ko

pols el G 145

e

We ecked lypf:.r coet!, o a-'tﬁa/.lw. ¥

,f'}“?r.ﬂ}' s
e R e, (r64m)
f %J‘J 7 eumeg

A GR perd.

HJ‘C r’i f’ﬂ'r"‘df "‘*“a ith.-t w-m_.l é{Fiq,.f.sj'
l?o‘Er.:' Coet u"-r«-%
r (31 ol codh, (21-_1{)
< (2,3
| (-2-8) o

G B gt (1), (U, (58, 629)

B5Staiing Jp.& "|“ [
I fl’m.-.m' a.’* | .
"}L{ ﬁh‘l}qbﬂ. J
X"ﬁ.jﬂﬁ=rdf:r GLT
Po&r"-') ta,", {‘H‘{ — P;v ) s 6’
R
Xz reosf fen 8= % S ()
Y > S 1
gr-.c.rlr'-’l?{
e (4 F)at  Cl1)o pbe

CP"{H' Cuyt
¢\ Skdel - A1=3 @- e,

L) @=-T/3 AL{ /
h;j L

Tjﬁ‘ﬂﬂ/ﬂ%“ ChWtl e Svea fﬂ q‘*:jfre)

%‘_c'_'- T2 |~cos O

4 A

i :
; I
(i / B
. ~1 >

I E'lra




WE- e H*I{L} H r‘j & c-ill?,gl rl['lefr""z’ f#“—!?('

2 45.h€' !;r
vl ‘i‘r.r!'-tﬂ

[MM; o . . 5 n ol .(_ wir edd
oinge 9 bl f it

Hmtr_iw){“ Al oy (ﬂ,?T';T)




